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3a (pny? 12 580w 27 I08) > 4b (8329)

Note#1: there is a long list of 257 that require — or only apply to —a “house”, either because (if ¥1177IN7), the textual
context is 1173, or else because they require a reasonable residence

Note #2: there are three theoretical constructs utilized in 1210 1/

1) ampy porr—literally “a crooked wall”, which allows us to consider a wall as continuing
horizontallyup to 4 mnx

2)  ’nynp nx - literally “the wall of the 7¥np comes down” — if a proper 7301 (10 o'novV)
doesn’t reach the ground, we consider it extending thus

3)  ’nynp o8 11— — literally “the wall of the 71y goes up” — inverse of #2

I.  Minimal area of n20

a.

7Ny 13 581w ’7. must be able to hold 1n5wy 12171 YO8
i. Challenge: following 'Rnw n’a? (as below — requiring jn>v)
1. Challenge: n"2y v"1 aren’t disagreeing about size, rather placement (as per xn»2)
a. Response: but there is also a disagreement about size (21 v. 1127)
b. 27 don’tinclude nYw
ii. Answer: n"21 v"a disagree about both; n”a requires jn%w in a nY1M NN

II.  4*4 for a “house” (even 1127 agree — unlike 1210, which is definitionally inferior); = if less than 4*4:

a.

e

i

Exempt: from ntin (n02) and npyn (m1)

D’r3 ’p2r no nan yn(na)

9 27y o0z sale in a walled city is “sealed” after 1 year (n>1)

19n5n 2971y Return from the front if not yet dedicated (m2)

72r72»: No mAxgn »1py (not fit for habitation)

&2 No mirian »ainw (not fit for habitation)

o No pmnn 11y (not fit for habitation)

7122p: Cannot become a “bridge” between 2 cities for ynn (not fit for habitation)
72151 pr. Doesn’t have the “law of divisible property” applied to it

III. Diminishing an invalid n210 (due to height)

a.

b.

C.

Pillows: never works (generally people don’t neutralize them to the ground)

Straw or dirt: that he neutralizes (9v71) — certainly valid

But straw or dirt: that he hasn’t neutralized but doesn’t plan on moving (also ono dirt) — dispute:
i. ’or "7 neutralized (> valid)
ii. 2957 not neutralized (2invalid)

IV. uneven 70

a.

b.

C.

Protruding down: If higher than 20 but leaves protrude down, if their shade (alone) > 50%, valid
Below 10: If exactly 10 onav but leaves protrude down, invalid (against »aR’s instinct to compare to 1t case)
Above 20: If higher than 20 and he built a pedestal, diminishing the distance to <20,
i. If the pedestal: is against the middle wall and is long*wide enough for a na1v, valid
ii. If the pedestal: is against a side wall, must be <4 mnx from the opposite wall
1. Point: we apply nmpy 1917 even here, even though unfit for a wall
iii.  If the pedestal: is in the middle, must have <4 mnx from all the walls
1. Point: we apply nmpy 1917 even in multiple directions
If no1ois lower: than 10 ©nav and he dug a hole, must be <3 ©mav from edge of hole to all walls
i. Reason for difference: here we are trying to establish a wall; there one already exists
If higher: than 20 and he built a pillar, wide/long enough and 10 o'nav high:
i.  7ax. should be valid due to xn¥nn pror T
ii. ~27 require recognizable mxmn
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